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goobood “EREEZE”
ooogd
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=II “OPEN" “NAME”
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[FILE] [NEW] [WORK FILE]
00000000000000000000000
Ooooo0 7300073/1 000000

Warkfile Range
Wworkfile frequency:
= Annual o wdeekly
= Semi-annual > Daily [5 day weeks] V oK
<+ Quarterly o Daily [F day weeks]
= Manthly » Undated ar iregular
Start date End date x':ancel
[72:1 EE

WORK FILED O OO

gooobobobobooboboboboobooboooo

[Quick] [Empty Group(Edit Series)]
co0fddooogdooogooooogd

eet Imp.:.rt

W EViews - [Group: UNTITLED  Workfile: MODELO?00]
[C1 Eile Edit Ohbject= Wiew Procs GQuick Options  Window Help - 5] x|
Wi I Procs I Objects I Print I MHame I Freezel Edit+/- I SmEIh-'r— I IhzDel I Tranzpose I Title I Sample I
ohs |
obs | -~ V ok
1970 A
1971
1972
1973
1974
1975 annceI
1976
1977 -
1978 il | » |_I
] [ Path = c¥eviews3 |[DE = mvi |[WF = model0700

gbooobgoobobobobooboobooboobo
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File  Edit Ohjectz  Wiew Procs  Guick  Optiohe Window  Help

B YWiorkfile: UNTITLED

Wigm I Procs | Ohjects I Save I Label+/~ I Shiomy I Fetch I Store | Delete | Genr | Sample I
Range: 1973:1 19994 Filter: *
sample: 1973:1 1999:4
(e o
B gdps0
B mpigs
B rmwigs
B resid
B wpig5d0o01

Default Eq: Mone

]

|| Path = ci¥eviems3d ||DE| = mwi ||'I.I'I.I'F = untitled

(OHoobooboOoeviws DOOOOOOOOOOOOODODODODOOOOOOOOO

00000000000 ——00000000000000000000000
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B Efiews - [Series: GDPOO Warkfile: UNTITLED]

[ Eile Edit Objects Miew Procs Guick Options  Window Help - =] x|

UiewlPrnclebiectsl F‘rinthamelFreezel SamEIelGeanSheet|Stats|1dent| Linel Elarl

[ L

] || Path = c¥eviews3 ||DE = mvi ||WF = untitled
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[Quick] [Generate Series]
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E nter equation:

LGDPI0=LOG[GDPI0)

S ample:

|19?3ﬂ 13334
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Loeviews I Wopla 08 wf 1 .-J.D.lll
=12 x|

F:‘Elrge 1995 1 E'IZII'_“IE' =1 FII:E'F Defsuh E-:| ‘5'_-,-'DI'II
Sampla: 198931 20024

[
cpd5]
B odpt

B rasid
=] sychi

(= | Path = c¥eviews3 || DB = test || WF = cp0a08

O0000000DO0O -[Open]-[As Group]

MTITLED ‘Workflle: & POE0E]

273.0000 491 0000

1995:2 2750000 | 495 0000 ' —
19953 2720000 | S000000 | ' '

1995:4 | 750000 | SOBOOO0 |
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19962 281.0000 5150000

1886:3 | 2500000 | 5130000
19064 | 2520000 | 5200000

1997:1 297 0000 535 0000
1987:2 2730000 | S18.0000 | ' ' J;|
19973 |4/ | ¥

(= | Path = c¥eviews3 || DB = test || WF = cpoa0e
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[ Eie Edit Obects Wew PEBocs Quick

B | FTDCS | LI OTS milL}

ol | F e e

Opgtione Wirdaw | Help
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2720000 500 0000
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281.0000 5150000
260.0000 513 0000
282.0000 5200000
2870000 5350000
2730000

[Edit+/-]00000000Oo0bs O00OD0OOOOOOOCOUOODOOCOOODOOOODO
gboooboobobobobooboobooobooobo

D) Bk B Obects Yew Pocs GQuck Oglions Winkw  Hele == x|
Wiaw | Procs cha | Print | Hama | Freeze | Edigdd/~ InaDal| T it
cp95
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Zr5.TEOY Fa.0oig
ZTBEI0 TES 0000
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81 6341 763 0000
734 8732 02 0000 =




gboooboboooboobgooo
gooobooboboboboo
gooobobobobooboooboboooboooboobooooo

diEre | FTTICE e s FTIn | ames ST+ = | s mprty = | INGLE == [0 5 | i
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281.0000 5150000
280 00000 513 0000
2E2.0000 S20.0000
297 .0000 535 0000
2780000 £18 0000 | =

[View] [Group Members] OO O

D) Bk Bt Qhicts Wew Procs Quck Oglions Windw  Hele R
\Wiaw | Procs =] Prrini | Mama | Fraaze | Cut Pasie | Fird | Fuplaos

t series expressions below this line — ' UpdateGroup® applies adits to
Group.
ZPo5F
GDPF

IFE——— e I Sl T

gooooO0oOoOOO0OO0OO0OO0OOOO0OOO0OO0OOOOOOODOOOD
[View] [Spread Sheet]O 00O O
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ooo SQR(X)
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0000000000000000000-000
000002(far,000000000),3(both,00
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log(y)=atblog(x)
ooooooo
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goobooboooood

¥y %
Yy X

@o)
a=log(y)0 000D
al yDDDODOOOOda/dy=1/y

dt dt dydt y~ y

ooooo
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[Quick] [Estimate Equation]

Eqoton Specficaton £l
Equatcn Specificaion:
[Depandenlvenable lolowed by bl of regress ors nchadin g ARRS
end POL s, OF & gxpl ol equalon ika vscf1]+oZ) fﬂ':
LG W95 O OGS0 RN L0 WH TE0mN 1) LI
-] b
Estimaion Satings:
ferihiced |__ - Lassi Sguenes [HLS and ARL) :l
— [Jopors
Samgls |"J-':1 19394 :|

File Edit Ohjectz Aiew Procse GQuick Options  Window  Help

B Fquation: UMTITLED  Warkfile: UNTITLED

Wi I Procs | Chiects I Prirnt I MHame | Freeze | Eztimate I Forecaszt | Stats I Fezids I

Dependent Yariahle: LOG{MYII5)
Method: Least Squares

Diate: 061700 Time: 19:36
sample: 1973:1 1999:4

Included observations: 103

“ariable Coeflicient  =td. Eror t-Statistic Froh.
C 1274443 0893924 1425673 0.0000
LOG(GOPSO) 1.3215894 0088259 1836152 0.0000
LOG(MPIRaAPIRS00  -0.222453 00BBSZZ? -3.329013 0.0012
R-squared 0936178  Mean dependent var 4 0359653
Adjusted RE-squared 0934963  =.0. dependent var 0. 407061
=.E. of regression 0103510 Akaike info criterion -1.665117
Sum sgquared resid 1.131842  Schwarz criterion -1.590613
Log likelihood 9291637  F-statistic 7701062
Dwurbin-YWatson stat 0125405  Prob(F-statistic) 0.000000
[ || Path = c¥eviews3 ||DE = mvi || WF = untitled
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Std.Error0 00 00O
go0oBOD0OO0O0O SOODODODOOOOObOOBSOODOO oOOB+x2sO000OOO
SBOiOildddbbobboooobobobogo o bboooobobbooa

132+ O0x 0.068 OOO 1.1800 1.5000
t-StatisticOt OO
gogoooooobobbbbotoboodooo+0ooboboboboobobobo0o0ooooooooo
goobobooooodfdnoobooooobobbooooobobobooogoo 1.3200
gooboboboooooboboboooobooboobog
ProbabilityD O OO
goobobobooooobbobuoooobobobbodootoogoobobool.32000
gjoooooobobbbbtbooooooobooboboboboboboodooooooooo
gooooo
R-squaredD OO 0O OO
goobobobooooooooo
Durbin-Watson stat0 O OO0 OO0 OOOO
o000 bOO000oo0obobobbOoo0oobobobodOp U-kp<lgbobonoog
ooobooboooogoop
goobobobooooono
F-statisticO OO O
goooooobobbbbtbooooooobobobobobbobboboodooooooooo
goobobobooogd
Probabilityd O O O
goooooobobbbbtbooooooobobobobobbobboboodooooooooo
gooooog
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[VIEW] [Actual,Fitted,Residual] [Actual,Fitted,Residual Graph]

File  Edit Objectz Yiew Proce Guick Options MWindow Help

B Fquation: UMTITLED  Workfile: UMTITLED

gy | Procs I Chjects | Prirt | Mame | Freeze | Eztimate | Forecast | Stats | Fesidzs |

5.0

- 4.5

L 4.0

- 3.5

A1 30

74 f5 78 B0 B2 84 B6 B3 HO 82 44 56 4B
| — Residual —— Actual —— Fitted |

] || Path = c¥eviews3 ||DB = mvi || WF = untitled
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O000D0O0000DOObOO0O0  [Procs] [Change work file range]
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Wiaw | Procs cha | Print | Hama | Freeze | Edigdd/~ Lo "= | Wicher 4= | InealDiad| T ik
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Aol mlwd F-gop mrsd OTITAND 5 [ depsncsns var R RE R
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[Forecast]Od O O
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Forecast

o
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0000000 [Open] [as Group]

) Bk Bt Obects Vew Pocs Quick Ogions Winkw  Help

2116868
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241702 2870000
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84 BTAZ 260 000
FAh RRTY

[V|ew] [Graph] [Line]
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O000000ODOORecursive Estimatesd
goo0o0oO0oOoOoOoOO0OOOOODOOODOOODOOOOOODOOO
[View] [Stability Tests] [Recursive Estimates]

Recursive Coefficients O OO

Recurzive Estimation

Cutput; Coefficient Dizplay List:

=+ Becursive Fesidualz C2ICE)
. CUSUM Test
+ CUSUM of Squares Test
+ One-Step Forecast Test
=+ M-Step Forecast Test

“* Recursive Coefficients

/ 0K I xliancel

| Save Results as Senes

gogoooo

Eile Edit ©Ohjectz Aiew Procs Quick Options Window  Help
B Equation: UMTITLED  ‘whorkfile: UNTITLED

-5

?él?lﬂlsljlﬂlzlﬂhlﬁlalalglgljl'g.:zlghléalgla.

[— Recursive (2] Exlimaer ---12SE

0a

nE 4
oad
nz4

004

024,

-0

R XY

[— Recursie &) Exlimaes ---12E.E. |

[_] || Path = c¥eviews3 ||DE = mvi ||WF = untitled

19




oooooooooooooo
Oo0ddooooO00oooOoUoOooDoooOooooooooog
[View] [Stability Tests] [Chow Braeking Point Test]

E‘: l! E'iems
File Edit Objectz Wiew Procs Gluick Options  Window  Help
B Equation: UMTITLED  ‘Workfile: UNTITLED

Wi I Procs | Chjects | Print I MHame | Freeze | Eztimate I Forecast | Stats | Resids |
Chow Breakpoint Test: 19901 ]

F-statistic 5222950 Prababhility 0.000000
Log likelihood ratio 100.5104  Probability 0.000000
[_] || Path = c¥eviews3 ||DB = mvi ||WF = untitled

Probability:0 0000000000000 0OOODOODOOOOODOODOOODO
gogoboboboogoooobooo

gogoboobooood

ggboboboogooboobuoooobboboooooboobboooobobbbooo
ggoobobobooooooboobobooooobooboog

[View] [Stability Tests] [Stability Tests][Recursive Estimation]

Recursive Estimation ) ® |

O Coeficient Displey List
Becursive Rasiduals
* CUSUM Test
CLELIM of Suanas Test
Qne-Step Forecast Test
M-Step Forecast Tast
HeEcrsnea Coaflicients

L) 2y G3)

Seve Aesults as Series
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ﬂ! Evigms

File Edit Ohjectz fiew Procs  GQuick Options  Window  Help

M Equation: UWTITLED  Warkfile: UNTITLED
‘-.-‘iewl Frocs I Db'ectsl F'rintI Namel Freezel Estimatel Forecaszt I Stats I Rssidsl
80
60 -
404
204
|:| i
220+ e
_4[:] 1 I 1 T 1 1 I 1 T 1 1 I 1 T 1 1 I 1 T 1 1 I 1 1 1 1
75 g0 85 90 95
|— cusUm - 5% Significance |
] || Path = c¥eviews3 ||DE = mvi |[WF = untitled

OO0000000 of Savares TestD OO OODOODODOO
goooboobobboooboobo
goooboobobbobooboon

21



d.0ooooooooad

oo oooooog
goooboobooooooog

[Quick] [Estimate Equation]
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O000d0o0o0U000oO00o0oOo0o000oOo0000oooooooooooooog
[object] [new object] [system] OO OO
ooooooooo

=10 x|

= == x|
View| Procs | Obiots| Print | Mame | Freeze | MergaText | Estimate | Spac| Stats | Resids |
consa=c(1)+c(2)*incomea

consb=c(3)+c(4)*incomeb)

consc=c(5)+ci{b)"incomec
L |[Psth= c¥evkwsBWseminor |[DB = test | WE = pnel |

[Estimate] O Seemingly Unrelated Regression OO0 O QOoKOOOO

laanoy 200202
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[Quick] [Estemate Equation] OO OO

-]

LS - Least Squares (MLS and AFKA)

1380 1953 -

Estimation Settings O Method O TSLSOOODODO

96801953

gbooobgoobobbobooboobon
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gooobogoobo

E¥E HLES MTITLED ‘Workifiie: LIMTITLEC] _|DI:ig
I':IEln Ek Obbcts Vew Brocs Quick Ogors Window belp _ = =|

Diependent Variable: CPS5
Matnod: Two-Stags Laast Sauares

Diate: OB/AIT/01 Time: 21.52 e
Sample: 1950 1999

Included observations: 20

Instrument st FREXDA IPUE

Variable Coathaiant std. Emror -Statishc Frab.
C A047 529 4848 066 0E28511 05378
[E1 " o 0 539347 0011035 48 8TaTE (Rl
R-sguarad 0993088 Meaan depandent var 23701492
Adjusted B-squared 0ea2inge 500 deparndant var 40436 64
S E. of regrasson 2455 582 Hum squared resid 2 15E+048
F-stabshc 2EE8 &40 Durbin-Y¥vat=on stat 0. DT e
Froo(F-statistic) 000000
[0 | Path = c¥aview=3¥seminor || DB = test |WF = untitied

gooboobooood
ggobobobooooobbobuooooboboboooa
goobobobooooobobbooooobobobbooooboooboeviEwSooooooo
Oo0O0oO0AR)’0ooog

Y=a OB X+e;

€=P €r tE
goobobobooogo

Y Yt (P Xee)P O €
‘Marquardt nonlinear least squaresOOp OB OODOO
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?-I-! E'iems

File Edit Objectz Wiew Procs Gluick Options  Window  Help

B Equation: UMTITLED  workfile: UNTITLED

Wi I Procs | Chjects | Print | MHame | Freeze | E=ztimate | Forecast | Stats | Fesid= |

Dependent Yariable: LOGMYIZIS)
Method: Least Squares

Date: 06/17/00  Time: 19:54 ]

samplefadjusted): 19735:2 195994
Included obsereations: 107 after adjusting endpaints
Convergence achieved after 16 iterations

“ariahle Coefficient  =td. Error t-Statistic Froh.
C 3605521 10758589 0.335214 07381
LOG{EOPI0) 0294176 0366157 0803415 04236
LOGIMPISEAMPIRS00  -0.036718 0067318 -0541436 05394
AR 0995532 0010523 9470920  0.0000
R-squared 0992939  Mean dependent var 4 046406
Adjusted R-squared 0992733 5.0, dependent war 0. 402926
=.E. of regression 0034348 Akaike info criterian -3.867900
=um squared resid 01215815 Schwarz criterion -3.767981
Log likelihood 2109326  F-statistic 4327 570
Durbin-YYatson stat 1.647444  Prob{F-statistic) 0.000000
Inverted AR Hoots 1.00
]
[_] |[Path = c¥eviews3 || DB = mvi || WF = untitled
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00 0O O =near 2=far 3=both

l(rear, 000000000 DOOOOODOOOOOOODODODOOOOD -OOOODOO
0)

2(far,000000O0DO0O)

3(hoth, 0O OODOODODOODOO)

40
30 |
20 |
10 |
0
= HA 1HART  2HART  3HAEN  AHART  SHAAD

LOGMYIAE) CLOGGEORIN POLLOGMFIIS HI35D0001).3.2.2)

LE - Least Sguares (MLS and ARKA)

19730 1999:4

(00)0DO0O0OO0OD0D0D000000000000O0
PDL(X(-2),1,2,3)00000000000000000
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goooog

|8 Fviews - [Fouation: UNTITLED Workile: Mu] = [ ]
[ Eie Edit Obects Wew Pocs Quich Options  Window  Help =& x|

= i |
ey | PV LAECT C IR ) el Il et 1 1 el AR R MEp Ko |

Dependent Vanable: LOGMYIZS]
Method: Least Squanss

Diate: 030501 Time: 1522 ]

Sampled adusted ) 19734 199894
Included observations: 105 after adjusting endpoints

Variable Coafficient  Std. Error t=Statistic . Prob.
C -11.712332 08850819 -12.53931 0,000
L GOFPA0) 1.2447132 0 0E59849 1886231 0000
FOLM 0098438 0009042 S5ATTE3E 0.0000
FDLO:Z -0 302451 0072634 4184051 00001
R-gcjuarad 084912 Mean dapendent var 4057437
Adiusted R-squared 0347618 5D dependent var 0398620
5 E. of regression 0091233 Akake info cnterion -1.812450
S squarad resid 0 840664 Schwarz crilenon S1B1247
Loy likedirisd 104 4561  F-statisbe 5281325
Durbin-Yatson stat 0201484 Prob(F-statistc) 000000

Lag Distribiution of LOGIMPISSS Cosfficient  Std. Ermor T-Statisbic

I 0o 03ETT 0.09958 317085

1 -0.09544 018907 -5.17764
[ 2 -0.28913 005004 -577TET
I 3 025832 004876 -5 25675

SumoflLags -0.32813 006337 -517764

o | [pen = cWeviewsd | DB = test | (W=
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[Quick][SeriesStatistics]

Hodrick-Prescott Filter

, i, Smoothed Senes: Ik tiar:
[Hodoric-Prescott Filete] =2MEEHEE 2 EllEs FoImEtan
Far the zmoathing parameter
coooooooooOoOoOooo Igdp1 6od Hodrick and Prescott suggest:

[PROC] [Hodoric-Prescott Filete] _ 100 for annual data
Smoothing Parameter:

1600 far quarterly data

|'|E|:||:|

Smoothing Parameter 00 00000 14400 for marnthly data
goooooog

oooooooobobobooooa 'I:IK xljan.;.3|
gooooog

Chiects View Procs  GQuick  Options  Window  Help

M Serics: GDPO0 Workfile: UNTITLED

UiewlPrnclebiectsl F‘rinthamelFreezel Sample | Genr | Sheet | 5tate | Ident | Line | B.

540000

500000 4

450000 4

400000

350000 4

3000004

2500004

200000

74 a0 85 40 a5

| — GDP30 — GDP1600 |

[_] || Path = c¥eviews3 ||DE = mvi ||WF = untitled
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Yima Yty o tagX e tauXe,

xOOyOOobOooboobOODaeg,a,00000000O00O0O0O0DODODOODO
Oa;a,000000000DO0OO0O0ODOO0ODOOODOOO

gooooooo

[Quick] [Group Statistics] [Granger Causality] O0O0O0O0OO3000000O0
000020000000000000000000000000

[View] [Granger Causality]

= W MReme
0 EViews

Eile Edit Ohjectz Miew Procs  GQuick  Optiohe  Window  Help

M Group: UNTITLED  Workfile: UNTITLED

UiewIF‘rDCSIOh'ectSI F‘rintINameIFreezeI SamEIEISheetIStatSISEEDI

Pairwize Granger Causality Tests
Date: 061700 Time: 20:17

Sarnple: 1973:1 19934 ]
Lags: 2
Mull Hypothesis: Obs  F-Statistic Probability
M4Y195 does not Granger Cause GDPS0 106 213035 0.12410
GOP20 does not Granger Cause MYI9S 066137 0.51837
[_] || Path = c¥eviews3 ||DE = mvi |[WF = untitled

gobooboobobooboobobbooboobooboobOo 210000000
gb 12000000100 00000000DO0 -O0DO0ODLOODODOOODOO

gboooboobobboobooboobobboobooborbOoeeOnOOOO
gbos2000000bdb -0obgoboobobooboooboon

|I:II:IEIEII:IEII:II:II:IProbabiIityI:II:II:II:II:II:IDDDDDDDDD
(O)ooooooooooooboooooobobobobobobooooooooo
goooboboobobo
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Xi=Xeate:
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[Quick] [Series Statistics] [Unit Root Test]
ooooOooOoOoOoOoOoOoOoOoOo

[View] [Unit Root Test]

[Init Root Test

Test Type: Include in test equation:

“* hugmented Dickey-Fuller:
 Phillips-Peman

@ Intercept
+ Trend and intercept

Test for unit roat in:  Hone

= Level :
“* 13t difference Lagged differences:

 2nd difference I2

/ 0K I anru:el

Augmented Dickey-Fuller 00 OO OO

Test for unit root IN:000000000O00O0O0OO0OOO
000000oDooDOooDooooooaoO)oo ecel”, 000 00D0O0ODOOOO
()0 0D0D00000st Difference’l 000000000 DOO(2))D00 0 nd
difference”

goooooooodoooboobooboooooD Qo
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Include in test equation:0 000000

Intercept Y+=C+(1-a )Yy, TREND+e
Trend and intercept V=C+(1-a )y, te
None ye=(1-a )y te

Lagged differnce0 00000000 O0O0DO0O
OO0  eFp 18c1te

000 eFp 18e1tP £e2*€ ¢

OoOoOooooo level,None,0
Y0 Ye o te
ODoO00O0O0O00O0O0O0OOOO
ooono
Oy=(1-a )y, te
O00001— 0000000000

B EViews - [Series: GDPI0 Warkfile: MT]

[C] File Edit Objects Miew Procs GQuick Options  Window Help =& x|

UiewlPrncleb'ectsI F‘rintINamelFreezel SamEIeIGeanSheetIStatslldentl LineI ElarI

| Augmented Dickey-Fuller Unit Root Test on GDPI0

ADF Test Statistic B.147745 1% Critical %alue™ -2.5850
5% Critical Value -1.9430
10% Critical %alue -1.6173

*hackinnon critical walues for rejection of hypothesis of a unit root.

Augmented Dickey-Fuller Test Equation
Dependent *ariable: D{GOP30)
hlethod: Least Sguares

Date: 062100 Time: 20:40
samplefadjusted): 19732 19994

Included observations: 107 after adjusting endpoints ]
“ariable Coeflicient  Std. Error t-Statistic Frob.
GOPI0-1) 0.005821 0000347 B147745  0.0000

R-squared -0.054925  Mean dependent var 2320045
Adjusted R-squared -0.054925 5.0, dependent var 3560285

o.E. of regression 646,459 Akaike info criterion 19. 268022

sum squared resid 1T41EHS  Schwarz criterion 19.27520

Log likelihood -1028.6887  Durbin-YWat=son stat 1.569555
[_] ||F‘ath = c¥eviewsd ||DE = i ||'I.I'I.I'F = i
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ADF Test StatisticO O OODOCritical ValueOODOOOOOOODOOOOOOOOOO
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1% 5% 10%

045

04 |
035 | /-\
03 |
025 | FEH EES
02 |
015 |

01 | /
005 |

0 _———

-3.5 -1
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Johanzen Cointegration Test
Cointegrating E guation [CE] and W¥A4R specification: | nformation:
Test azsumes no determiniztic trend in data; Th'? be:st H*‘f:"'ﬁ'-F‘ iz
+ Mo intercept or trend in CE ar test %48 gﬁg?ea;?:iul:lnfurm.
= Intercept [no trend] in CE - no intercept in a0 CE and data rend

azzumptionz apply to

Test allows for linear determiniztic trend in data;
levels.

“* ntercept [no trend] in CE and test V4R

> Intercept and trend in CE - no trend in AR T
Test crtical values
were derived

> Intercept and trend in CE - linear tend in WAR aFEUMing no _
EXOOEnoLE Seres.

Test allows for quadratic deterministic trend in data:

Summary:

»+ Summarnize all 5 sets of assumptions
Exogenous seres in YaR: I V Ok I
[dan't include C ar trend]

Lag intervals [pairz] in WAR: |11 xﬂancel
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File Edit Ohjects

Migw  Procz GCluick  Optionz Window  Help
M Group: UMTITLED  Wwoorkfile: UNTITLED

g | Procs | Chiects | Print | MHame | Freeze | Sample | Sheet | Stats | Spec |

Johansen Cointegration Test

Date: 06700 Time: 20:26

Sample: 1973:1 1999:4
Included observations: 106

Test assumption: Linear deterministic trend in the data
Series: GDPS0 MYI195

Lags interval: 1101

Likelihood A Percent 1 Percent  Hypothesized
Eigenvalue Ratio Critical Walue  Critical Walue Mo, of CE(s)
0.0559230 8335535 15.41 2004 Maone
0.026B55 2863504 376 B.65 At most 1

*™ denates rejection of the hypothesis at 5%(1%) significance leval
L.F. rejects any cointegration at 5% significance lavel

Unnormalized Cointegrating Coefficients:

s0P30 MT%195
-I2EDY 0.006363
-3.46E-08 0.0105973

Mormalized Cointegrating Coefficients: 1 Cointegrating Equationis)
E0P30 MT4135

1000000 -8688.743
(10075.9)

o
1722069

Log likelihood  -1235.303

|| Path = ci¥eviews3 || DE = mwi ||'I.I'I.I'F = untitled
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oooooo AR VAR Xe=aX, +bX, +€,
oooooo MA VA X,=ae+be, ,
ARIMA  VMARIMA

Xt = auXi-1+buX-2+awrz-1+bi2z -2+ Ux
Z=axXi-1+bDoxi-2+a»z-1+b2z-2+uz

gooooood
[Quick] [Estemate VAR]

Unrestricted Wector futoreg

WaR specification: Sernes [Groupsz] to inchude inaR:

< Unrestricted AR Endogenous:

 Wectar Emor Comection GDPI0 M35
Lag intervals [as range pairz] : E xogenovis:
Cl

12
Sample: | Include intercept

19731 19334

V 0K anru:el

Lag Intervals OOOOQOOOOOO

Endogenous

vVAROOOODODOOO

Exogeous
ggobobobooooobbobuoooobboboooa
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B e |E ar: Tmark T My

[ File  Edit Objectz  Miew Procz  Guick  Optiong
Window  Help - =] x|
Wi | Procs | Objects | Print | Mame | Freeze | Eztimate I Stats | Impuil=s

| Vector Autoregression Estimates

Date: 06/2100 Time: 21:16 —
samplefadjusted): 19733 19994
Included observations: 106 after adjusting
endpoints
otandard errors & t-statistics in parentheses

s0P30 fl/195 |

GDPI0(-1) 1103274  -2.1BE-05
(0.10308)  (5.9E-05)
(107022  (0.36779)

GDPI0(2) 0085260  2.98E-05
(0.10495)  (5.0E-D5)
(0.61237)  (D.49334)

hVIS5 (1] 1243615 1.030905
(161.078)  (0.10418)
(0.BBETE)  (9.89519)

hIVI95 (2] 208.6637  -0.045545
(163.548)  (0.10860)
(-1.13695)  (-0.43129)

C 5117950  -1.144280
(2085600 (1.20167)
(0.29292)  (0.95224)

R-squared 0.995521 0.994031
Adj. R-squared 0.995463 0.993546
Sum sq. resids 1.24E+H09 410.8614

=.E. equation 3505.573 20165812
F-statistic 17050, 45 4240361
Log likelihood -1013.030 228
Akaike AlC 19.20812 4287033
schwarz SC 19.33375 4. 412667

Mean dependent JBA574.7 B2.356R0
5.D. dependent 5940951 2571064

-

|J || Fath = c¥eviewsa || DB = myi ||'I.I'I.I'F = myi
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WAR Impulse Responses

Digplay definition: Digplay type:
|rinceeations ba: = Table
IS  Multiple graphs
<+ Combined rezponse graphs
cauze Besponses by 4 |mpulse responzes
GDPA0 = Wariance decomposzition

Fezponze standard errors:

= Mone
4 Analytic [asymptotic)
= Mante Carlo

RBepetitions:
Periods: |'| 1]

[unrezstricted VAR =z only]

/ oK anru:el

uzing the Ordering:
GOPA0 k195

I'IEIEI

gboooboobobooboboooboobobboobobooooooboooong

EI-! EViems
File Edit Ohjectz Aiew Procs Quick Options  Window  Help
B Var: UNTITLED  iiorkfile: MW
‘._.fiewl Frocs I Dl:u'eu:tsl F'rintI Namel Freezel Eztimate I Stats I ImEu|SEI Residsl
Responze of GDPA0 to One =0, MYISS INnnovation
400
1]
-400
-200
-1200 4
-1EDD T T T T T T T T
1 2 3 4 i1 5] T g a 0
[_] || Path = c¥eviews3 ||DB = mvi ||WF = mvi

40



.00 0b0boougg

o00d0ooO00oooO0O0OoO0O0oOoOd0oooO00oDoDoUOOooOoUDooOooOoOooDo
oOoooooOo0ooooooooooooooooo
Y=a OB X+e,

00o0dooooooDoopUO0OODOU00ODOO0DOUOOoOoDOoOODODgd
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[Objects] [New Objcect]

Mew Chject

Tvpe of Object: Mame for Object;

|Untitled

E quation
Graph
aroup
Logl

b atrix- ectar-Coef
Model V 14
Pl

Sample
Seres

System anru:eI

T able
Text
WaR

SSpace(D OO O)O OO

00000000000 ObjectOOODODO

41



[Auto Spec] [Time Varying Parameter]
o0o0oooOoO0oO0ooooUoOoooogooooooo

StateSpace - Time Warwing Parameter Optionz

One or more Dependent wariables: R andom coefficient assumption;
“  Fandom walk
= &R[1] and constant mean

+ Constant meat

log[nwig5)

B

Fixed coefficient regreszors:

 log[gdp30]

Baze Mame for coef. zenes:

S

|5

Bandom [gtate] coefficient regreszors:

[ogmpa5Awpia5d0007]

YWharning! Clicking the OF. button
will delete anw ald resulks.

V| [ Mo

gbooboobobbobooboobobooobboobooboooo
gbooobgobogoeobooboboobuoobooboboobobooobooDbo
gbooboobobobooboookKoboobooboobooobooo

S

= W MReme
0 EViews

Eile Edit Ohjectz Miew Procs  GQuick  Optiohe  Window  Help

M Szpace: UNTITLED  Workfile: MWT

Wi | Procs | Objects | Print | MHame | Freeze | AutoSpec | Eztimate | MergeText | Spec | Stats | Resids |

OGNMYIFD) = O +02 % O GLGDPI0
+541 # O GIMPI5,AWPIIE 00001 )
@STATE SV = SW1(-1)

|J || Fath = c¥eviews3 || DB = myi ||'I.I'I.I'F = mivi
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[Estimate]

StateSpace Estimation

Y ariance Matrix of Observation Eauations:
= |derntity

<+ Diagonal [Independent system];
= Symmetric [Dependent spstem] V (]4 I

= Uszer zupplied I

W anance Matnx of State Equations:

= |dentity “Yariance optiong for state

. Cancel
“% Diagonal eqn._appl_l,l arly to Time

= Yaring Parameter models

= Syrmmetric:
= Uszer zupplied
S ample: [ Options
19731 1999:4 i’
Y=a OB X+e, oddoooooooooooao
B =B {ite oddodooodooooooooooooobooo

Variance Matrix of Obaservation Equarions
etJ000O0OO

Variance Matrix of State Equations
e 0O0oDoooOooOo

Eviews OO0OO0OODOOO0OOOOODOOONentifyJOOODOOOOOOODOODO
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?-I-! E'iems

File Edit Objectz Wiew Procs Gluick Options Window  Help

B Szpace: UNTITLED  Workfile: MWT
1-.-‘ineu.n.ll Procs I Ol:u'!e-:tsl F‘rintI Namel Freezel F'.utu:uSEecl Estimatel MergeText I Spec I Statsl Rﬂsidsl

SSpace: UNTITLED

Estimation Method: Maximum Likelihood
Date: 0BA7/00  Time: 20:52

bodel: Tirme-Yarying Coefficient Model
Sample: 1973:1 1999:4

Included Observations: 105

Yariance of observation equations: Diagonal
Yariance of state eguations: Diagonal
Convergence not achieved after 100 iterations

Coefiicient  Std. Eror t-Statistic Praoh.

M -3887419 0808206 -48.05772  0.0000
L 3328819 0062064 5363517 0.0000
OBEVAR(T 1) Oo01Mey 0102441 D.0MMB02 09903
SSWAR(T 1) 0644453 0095392  B756229 00000
Final 541 1718393 1126953 1524812 01305
Log Likelihood 1710113
LOG(MWIZE) = (1) +C21LOGIGDRPI0) +54%1*LOG(MFPI25
ANPIZS00001)
SW1 = BY1-1)
R-squared 0.997830 Mean dependent var 4 057437
Adjusted R-squared 0.997853 S.D. dependent var 0.398620
5.E. of regression 0.018443  Sum squared resid 0.035035

Curhin-Watson stat 11874585

|J || Fath = c¥eviewss || DB = myi ||'I.I'I.I'F = mivi
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[View] [State Series] [Smoothed State Space Graphs]

EE-I-! E'iems

File Edit Objectz Wiew Proce Guick Options Window  Help

M Szpace: UNTITLED  Workfile: MWT

1-.-’iEI.n.II Frocs I Cll:u'eu:tsl F'rintI Mame I Freezel AutoSpec I Estimatel MergeTewxt I Spec I Statsl Rﬂsidsl

-8 I 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | I 1 1 1
75 80 85 90 95
— SV1 Forecast Estimates —— + 25E
|J ||Path = c¥eviewsd || DE = myi ||'I.I'I.I'F = mivi

goobooboooooon
SV1 SVISM SVIFO O
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gbooogoo

O.0bogogd

000 0ooooooooo
[window] - [Command]C O O O

= 0] x|
Fle Edt Dblects Vew Fmoos Quick Opors | Window  Help

Arrange [cons
Closa Al
- = Cosa All Obpcts

Fange: 129201 200212 Filter: * Defau
Sample: 198301 200212 Swees Gomand-EdE Foous
= amon Bz - ke i
|: Az
& expiusa v 2 Workflla: EXM = (o ¥aviewsd¥seminors
B exviisa
A fraxda
B iipus
=l lagh
B logespis
B resid
B wipiirmcus
Ez0
| | ||FH'|= o ¥evewsd¥saminor ||I:H=tnﬂ ||'H-'=w:r|1
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Bl Edt DOblects Vew Pmoos Quick Optors Wrdow Help

Fange: 129301 200212 Filter: Da
Zample: 129301 200212

fault Eq: almaon
= amon iz
c Az
A expiusa

& exviusa O0oo0ooooooooon
B reeda
BHiipus

= lagh

EA logepis
B resid
Ewpiincus
Ez0

|Fuh= o ¥eviewsdse minor |I:H=“ |H== SEm

O00000OexviusaDOOOOOOODDOOOOOshow exviusaOOOOO0O
gboobgboboboboboboboboboboboobob

EEEE——— -loix

Flg Edt Oblpcts View Pmos Quick Oplors Wndow Help
show exviusa

B eviusa
B frexda
Biipus

= lagh

B logexpis
Eresid

B wpiindus
Bz

| | |FH||= o ¥eviewsdss minor |I:H=hﬂ |H==u:r|1
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[File][New][Program]C O O O
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Fie Edt Ohjects Wiew Pmoos Guick Options Window Help
[ Mew

Cman

I

Save As.
Chosa

[mport
Export E
Exirit i

Print Setup. AT ext | AddS hade | Zoom | Remove | Te

Bun...
Exft WY
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gooobooboboboobooboobobooobooobooo

Euia y workfie: ExXmM] = 0] =
I:IEh it Qunm m Procs Guick Optors  Window  Help _ = x|

Diependent Variable:
Matinod: Least Sguares
Diate: DGMOEDT  Tims: 15549

Sampleladjusted). 1993:01 2001.03 ]
Included sbsarvations. 39 attar agusting endpoints

Variable Cosfficient  Std. Error -Statistic  Prab.

EXVIUSA 4.91E-17  903E-18 5437881  0.0000

C 1000000  927E-16  1.08E+15  0.0000

IPLS 0000000  7.19E-16 0000000  1.0000

EXPIUSA 0.000000  8.23E-18 0000000  1.0000

Mean dapendant var 1.000000 5.0, dependent var 0. 000000

S.E. of regrassion 4.04E-16  Sum squared rasid 2.31E-29
Durtan-Watsor stat 0.274760 -
r | Path = c¥eviewsS¥semincr || DB = test || WF = axm

gdbooooboobboobobooobo
gbooobobobobooboobobobooboobooboooobooboobon
goooboobobbobooboobobooobbooboobooo

equation O OO0 .Is exviusa c 1ipus expiusa

gdbbooboboobbooboboobbooboobbon
goooboobobbobboobooboobobboboo
goooboobobbobooboobobooobobooboobooo

LOAD DO

goooobooboobobooboobobobtbooboobbooobooboobo
goooobooboobobooboobobobtbooboobbooobooboobo
goboobobobobooboobobooboobooo
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godoouooooobon
oooobooboboboboooboobon

load exm

equation none.ls exviusa ciipus pdl(expiusa,6,2,0)
equation near.ls exviusa ciipus pdl(expiusa,6,2,1)
equation far.Is exviusa c iipus pdl(expiusa,6,2,2)
equation both.Is exviusa ciipus pdl(expiusa,6,2,3)
show none

show near

show far

show both

OO00DO0000oOooDOooDOoooDOoDOooDoooooooo
load unitgdp

forj=0to 8
gdp95.uroot(c,!))
freeze gdp95.uroot(c,}j)
next

forj=0to 8
gdp95.uroot(t,!))

freeze gdp95.uroot(t,!))
next

forlj=0to 8
gdp95.uroot(n,lj)
freeze gdp95.uroot(n,!))
next
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